CHAPTER THIRTEEN
Financial Statement Analysis
Concept Self-check
1. 	Comparisons can be made using published industry statistics, statistics of previous years, statistics of leading competitors, trade magazines, or internally-developed ratios.
2. 	Liquidity is a corporation’s ability to pay current liabilities as they become due. Being less liquid means creditors that have provided the corporation with goods and services on account, or with other forms of short-term borrowing, cannot be paid. Implications of being less liquid:
Creditors:
a.	Can refuse to provide further goods or services on account
b.	Can sue for payment
c.	Can put the corporation into receivership or bankruptcy
d.	Can refuse to lend additional cash
[bookmark: _GoBack]e.	Can demand repayment of all debts, including long-term debt.
Shareholders:
a. 	May be unwilling to invest in additional share capital of the corporation
b. 	Risk the loss of their investments if the company becomes bankrupt
3. 	A corporation is becoming less liquid if it cannot pay current liabilities as they become due. The corporation may have large sums of capital tied up in inventory and therefore not enough cash available to pay liabilities as needed, for instance. 
4. 	Current ratio: Indicates how many current asset dollars exist to pay current liabilities
Acid–test ratio: Indicates whether or not the corporation is able to meet the immediate demands of creditors, without considering current assets tied up in inventory or prepaid expenses.
Accounts receivable collection period: Indicates the average time needed to collect receivables 
Number of days of sales in inventory: Indicates how many days of sales can be made with inventory on hand 
Revenue operating cycle: Indicates how long it is between the purchase of inventory and the subsequent collection of cash from sales of inventory.


Concept Self-check continued
5. 	a. 	Working capital is the difference between current assets and current liabilities.
The current ratio is computed by dividing current assets by current liabilities. It is one measure of whether or not the corporation is able to repay short–term creditors. The acid–test ratio, on the other hand, is a more severe test of liquidity. It is computed by dividing quick assets (cash, short-term investments, accounts receivable) by current liabilities.
b. 	The current ratio is only a rough indication of how able an entity is to pay its current liabilities as they become due. The relative liquidity of components of current assets is not considered in the calculation of this ratio. The acid-test ratio is often used as a more severe test of liquidity.
6. 	The ability to pay short-term creditors as amounts become due depends on the liquidity of the current assets. If, for example, company X’s current assets consist of cash and company Y’s current assets consist of inventory, company Y will not be able to pay its creditors easily because of a lack of cash.
7. 	Taking too long to collect accounts receivable will reduce the amount of cash available to pay liabilities as they become due. The same is true if there is an over–investment in inventory. 
8.	An acceptable number of days to collect accounts receivable and to convert inventory to sales depends on several factors, including the industry in which the corporation does business and the state of the economy. Management judgement and experience are crucial. If accounts receivable are collected too slowly, or if credit is extended to liberally, debts may not be collected in a timely manner, or at all. If accounts receivable collections are too short, potential credit sales may be lost. Similarly, higher number of days of sales in inventory indicates that more cash is tied up in inventory. On the other hand, a lower number of days of sales in inventory may indicate that inventory levels are too low. Potential sales may be lost.
9. 	Advantages of decreasing number of days of sales in inventory might be that
a. 	The amount of assets tied up in inventory is reduced
b. 	The dangers of obsolescence or deterioration are reduced
c. 	Less storage space is used for inventory, so that warehousing expenses are reduced.
d.	Borrowings to purchase inventory and related interest expense can  be reduced.
A disadvantage of decreasing number of days of sales in inventory is that merchandize can be reduced to the point where sales are lost.


Concept Self-check continued
10. 	The revenue operating cycle indicates the number of days that elapse between the purchase of inventory and the subsequent collection of cash after a sale is made. It is computed by adding the average number of days needed to turn over inventory and the average number of days needed to collect receivables. It is useful in evaluating liquidity because a comparison can be made of the number of days needed to complete the cycle and the number of days within which the payables are due. Management can determine how long it will take the corporation to reinvest in inventory with cash generated by the revenue operating cycle.
11.	a.	Ratios that measure margins on sales:
i.	Gross profit ratio: indicates the amount of revenue left to cover other expenses after deducting cost of goods sold. It is calculated by dividing gross profit by net sales.
ii.	Operating profit ratio: indicates the amount of revenue left to cover interest and income taxes expenses after deducting cost of goods sold and operating expenses. It is calculated by dividing income from operations by net sales.
iii. 	Net profit ratio: Indicates the percentage of sales revenue left in the business after payment of operating expenses, interest, and income taxes. It is calculated by dividing net income by net sales.
b.	Ratios that measure returns on statement of financial position items:
i. 	Sales to total assets ratio: Indicates the adequacy of sales in relation to the investment in capital assets. It is calculated by dividing net sales by average capital assets.
ii.	Return on total assets ratio: Indicates how efficiently a company uses all of its statement of financial position assets to earn income from operations. It is calculated by dividing income from operations by average total assets.
iii.	Return on shareholders’ equity ratio: Indicates the amount of income that is generated by shareholders’ proportion of total assets. It is calculated by dividing net income by average shareholders’ equity. 
12. 	Analysts and investors are concerned with the financial structure of a corporation because the higher the reliance on debt, the more substantial claim the creditors have against the assets of the corporation. The corporation is also more vulnerable to rises in interest rates and economic downturns, which in turn affects future earnings expectations.


Concept Self-check continued
13. 	Reliance on creditor financing can be positive, since financing a corporation by issuing additional shares results in a dilution of existing shareholders’ control of the corporation. Also, creditor financing is beneficial to shareholders when the return is greater than the interest paid on the debt. However, interest has to be paid on the debt and, ultimately, the debt itself has to be repaid. Interest reduces the income of the corporation. If interest rates paid on debt are higher than the returns generated from the borrowed funds, net income is reduced. The corporation is more susceptible to economic downturns and interest rate increases as its reliance on debt grows.
14. 	Short–term financing
Advantages:
a.	Usually does not require interest payment to the creditors
b.	Easily obtained
Disadvantages:
a.	Payment is required within a short time
b.	More risky, because it has to be renewed more frequently
Long–term financing
Advantages:
a.	More secure, because renewal is infrequent
b.	Principal repayment not required for a long time
Disadvantages:
a.	Must pay interest, and legal documents are often signed to enforce this.
b.	More work to acquire (must present financial statements, may have to
be audited)
15. 	a.	Earnings per share: Indicates the amount of net income that has been earned on each common share. It is calculated by dividing (net income less preferred share dividends) by number of common shares outstanding.
	b.	Price-earnings ratio: Indicates the reasonableness of the market price in relation to per-share earnings. It is calculated by dividing market price per share by earnings per share.
	c. 	Dividend yield: Indicates the short-term cash return that could be expected from an investment in a company’s shares. It is calculated by dividing dividends declared by outstanding common shares.


Concept Self-check continued
16. 	Horizontal analysis is the comparison of the change in one item on financial statements (such as merchandize inventory) during two or more accounting periods. Vertical analysis is the analysis of the composition of a financial statement by restating all items in that statement as percentages of a total. Generally sales is used as the income statement base and total assets (or total liabilities and shareholders’ equity) is used as the statement of financial position base. Comparing the percentages of a particular item between two or more years shows the change in composition of the statement components.
17.	The Scott formula is calculated as follows:
	

Return on operating capital
	
+
	
Return on leveraging
	
=
	Return on shareholders’ 
equity

	(1)
	
	(2)
	+
	(3)
	
	(4)
	
	(5)

	Income from operations (after tax)
	
x
	
	Net sales
	
+
	
(ROC – Interest rate) 
	
x
		Net financial debt
	
=
	
	Net income

	Net sales
	
	Operating capital
	
	
	
	Shareholders’ equity
	
	Shareholders’
equity 


The formula separates ROSE into two components: return on operating capital (ROC) and return on leveraging (ROL). ROC can be further analysed as the product of the after-tax return on operating income x sales to operating capital ratio. ROL can be further analysed as (ROC – after-tax interest rate) x debt to shareholders’ equity ratio. The after-tax interest rate is calculated as [interest expense x (1- income tax rate)]/net financial debt.


CP 13–1
	l	Acid–test ratio
	f	Current ratio
	k	Return on shareholders’ equity
	a	Times interest earned
	c	Earnings per share
	m	Accounts receivable collection period
	d	Sales to total assets
	j	Dividend yield
	e	Price–to–earnings ratio
	g	Number of days of sales in inventory
	b	Debt to shareholders’ equity ratio

	h	Net profit ratio
	m	Accounts receivable collection period
	i	Return on total assets


CP 13–2
1. Current ratio = 	 Current assets  
		Current liabilities
The current ratio indicates how many dollars of current assets exist to pay a dollar of current liabilities. A ratio of 2 to 1 is often appropriate but this depends on the type of industry.
2018: ($10 +35 + 200 + 600)/745 = $1.13 to 1
2017: ($15 +35 + 150 + 400)/580 = $1.03 to 1
2. Acid–test ratio =	 Quick assets  
		Current liabilities
The acid–test ratio indicates how many dollars of current assets excluding inventory and prepaid expenses exist to pay a dollar of current liabilities. A ratio of at least 1 to 1 is often appropriate but this depends on the type of industry.
2018: ($10 + 35 + 200)/745 = $.33 to 1
2017: ($15 + 35 + 150)/580 = $.34 to 1
3. Both the current and acid-test ratios are below the suggested guidelines. The company’s continuing low acid-test ratio in particular suggests that it will likely have problems meeting its liabilities as they become due, and that the company may be at risk of bankruptcy.
4. 
	
	
	2018
	
	2017

	Working capital from operations 
	
	
	
	

	Accounts receivable
Inventory
	
	$200
  600
	
	$150
  400

	Less: Accounts payable
	
	(500)
	
	(400)

	
	
	$300
	
	$150

	Net financial debt
	
	
	
	

	Borrowings
	
	$245
	
	$180

	Less: Cash
	
	(10)
	
	(15)

		Short-term investments 
	
	(35)
	
	(35)

	
	
	$200
	
	$130





CP 13–3
Gross profit ratio = Gross profit
		Net sales
2019: $63/252 = 25%
2018: $48/141 = 34%
2017: $54/120 = 45%
Net profit ratio = Net income  
	Net sales
2019: $12/252 = 4.7%
2018: $5/141 = 3.6%
2017: $15/120 = 12.5%
This company has a decreasing gross profit ratio. This significantly affects net income and the net profit ratio. Net income and the net profit ratio dipped significantly in 2018, but both have rebounded somewhat in 2019. The company may be facing significant competition in recent years; hence the overall decline in the gross profit and net profit ratios.
CP 13–4
Price-earnings ratio = Market price per share
		Earnings per share
This ratio indicates the stock market’s expectations of profitability for the company. A higher P/E ratio indicates that the market expects the company to be profitable despite relatively lower net income at present. On this basis, company C is preferred.
A: $35/11 = 3.2
B: $40/5 = 8
C: $90/10 = 9
Dividend yield =  Dividends per share 
		Market price per share
This ratio indicates what short-term cash return shareholders might expect on their investment in common shares of the company.
A: 0
B: $4/40 = 10
C: $6/90 = 6.7
The stock market indicates that company C is expected to be relatively more profitable than A or B in the future. However, if dividend yield is important to the shareholder, then company B should be chosen. On either basis, company A does not appear to be a good investment.


CP 13–5
					Change            
	2018	2017	Amount	Percentage
	(a)	(b)	(a – b) 	(a – b)/b
Sales	$2,520	$1,440	$ +1,080	+75%
Cost of goods sold	 1,890	   960	+930	+96.9%
Gross profit	$630	$480	+150	+31.3%
Operating expenses	   510	   430	+80	+18.6%
Net income	$  120	$   50	+70	 +140%
Although sales have increased, cost of goods sold has increased at a faster pace. However, operating expenses have increased at a slower pace, resulting in a substantially higher net income.
CP 13–6

	
	
	Effect on ratio

	
Transaction
	
Ratio
	
Inc.
	
Dec.
	No change

	Declared a cash dividend
	Current ratio
	
	X
	

	Wrote-off an uncollectible account receivable
	Accounts receivable collection period
	X
	
	

	Purchased inventory on account
	Acid–test ratio
	
	X
	

	Issued 10–year bonds to acquire capital assets
	Return on total assets
	
	X
	

	Issued additional shares for cash
	Debt to shareholders’ equity ratio
	
	X
	

	Declared a share dividend on common shares
	Earnings per share
	
	
	X

	Restricted part of retained earnings
	Return on shareholders’ equity
	
	
	X

	Purchased supplies on account
	Current ratio
	
	X
	

	Paid a short–term creditor in full
	Acid–test ratio
	X
	
	

	Paid an account payable, taking the cash discount
	Number of days sales in inventory
	
	
	X





CP 13–7
1.a. 	Return on total assets 
	= Income from operations
	Average total assets
 	= ($36/220)
	= 16.4%
  b. Return on shareholders’ equity 
	=                     Net income                 
	Average shareholders’ equity
 	= $20/(80 + 60)
	= 14.3%
  c. Times interest earned ratio 
	= Income from operations
	Interest expense
 	= $36/6
	= 6 times
  d. Earnings per share 
	= 		Net income                          
	Number of common shares outstanding
 	= $20/8 shares
	= $2.50
  e.	Number of days of sales in inventory
	= Average inventory    x 365 days
	Cost of goods sold
 	= $40/50 x 365 days
	= 292 days
  f. 	Accounts receivable collection period 
	= Accounts receivable  x 365 days
	Net credit sales
 	= $20/100 x 365 days
	= 73 days
  g. Sales to total assets ratio 
	= 	Net sales           
	Average total assets
 	= $100/220
	= 45%
  h. Current ratio 
	=   Current assets 
	Current liabilities
 	= ($20 + 20 + 40)/20
	= 4:1


CP 13–7 continued
  i. Acid-test ratio 
	=   Quick assets 
	Current liabilities
 	= ($20 + 20)/20
	= 2:1
  j. Debt to shareholders’ equity ratio 
	=         Total liabilities      
		Shareholders’ equity
 	= $(20 + 60)/140)
	= .57:1
2.	The following ratios are measures of liquidity:
e.	Number of days of sales in inventory
f.	Accounts receivable collection period
h.	Current ratio
i.	Acid–test ratio
3.	
		Statement of Financial Position

		Operating Capital

	Working capital from operations 
	
	
	

		Accounts receivable
	
	
	$  20

		Merchandize inventory
	
	
	40

		Less: Accounts payable
	
	
	(20)

	
	
	
	40

		Plant, at carrying amount
	
	
	140

	Operating capital
	
	
	$180

	
	Net Financial Debt

		Borrowings
	$ 60
	
	

		Less: Cash
	(20)
	
	40

	
	
	
	

		Shareholders’ Equity

		Share capital
	80
	
	

		Retained earnings
	60
	
	140

	Financial capital
	
	
	$180





CP 13–7 continued
		Income Statement

	Sales
	
	
	$100

	Cost of goods sold
	
	
	50

	Gross profit
	
	
	50

		Operating expenses
	
	
	14

	Income from operations
	
	
	36

	Less: Income taxes
	
	
	(12)

	Income from operations, after-tax
	
	
	24

	Interest
	6
	
	

	Less: Income tax savings
	(2)
	
	

	Net interest expense
	
	
	4

	Net income
	
	
	$20


4.	 Scott formula
	
	

Return on operating capital
	

+
	

Return on leveraging
	

=
	Return on shareholders’ equity

	
	(1)
	
	(2)
	
	
	(3)
	
	
	(4)
	
	(5)

	
	$24
	x
	$100
	+
	$24
	–
	$4
	x
	$40
	=
	$20

	
	100
	
	180
	
	180
	
	40
	
	140
	
	140

	=
	24%
	x
	.6
	+
	
	3.3%
	
	x
	.3
	=
	14.3%

	=
	
	13.3%
	
	+
	
	
	
	1.0%
	
	=
	14.3%




CP 13–8
1. 	Current ratio
	=  Current assets 
	Current liabilities
 	= Cash + accounts receivable + inventory + prepaid expenses
	Current liabilities
	= ($72 + 88 + 100 + 40)/60
	= $300/60
	= 5:1
2. 	Return on total assets
	= Income from operations
	Average total assets
	= $46/620
	= 7.4%
1. Sales to total assets ratio
	=            Net sales         
		Average total assets
	= $240/620
	= 38.7%
4. 	Acid-test ratio
	=  Quick assets  
	Current liabilities
	= Cash + accounts receivable
	Current liabilities
	= ($72 + 88)/60
	= 2.7:1
5.	 Times interest earned ratio 
	= Income from operations 
	Interest expense
 	= $46/8
	= 5.75:1
6.	 Earnings per common share 
	=   Net income – preferred share dividends   
	Number of common shares outstanding
 	= [$20 – ($60 x 10%)]/10 shares
	= $1.40 per share


CP 13–8 continued
7.	 Accounts receivable collection period 
	= Average accounts receivable x 365 days
	Net credit sales
 	= $88/(80% x $240) x 365 days
	= 167 days
8.	 Return on shareholders’ equity 
	=    Net income    
	Shareholders’ equity
 	=                                      Net income                                           
	Preferred shares + common shares + retained earnings
	= $20/(60 + 250 + 100)
	= 4.9%
9.	 Scott formula 
	
	

Return on operating capital
	

+
	

Return on leveraging
	

=
	Return on shareholders’ equity

	
	(1)
	
	(2)
	
	
	(3)
	
	
	(4)
	
	(5)

	
	241
	x
	$240
	+
	$24
	–
	$43
	x
	$78
	=
	$20

	
	240
	
	4882
	
	488
	
	784
	
	4105
	
	410

	=
	10%
	x
	.49
	+
	
	(0%)
	
	x
	.2
	=
	4.9%

	=
	
	4.9%
	
	+
	
	
	
	0%
	
	=
	4.9%


1 $46 x (1 – .473*) = $24	2 $620 – 72 – 60 = $488 
3 $8 x (1 –.473) = $4	4 $150 – 72 = $78
5 $60 + 250 + 100 = $410
*income tax rate: $18/38 = 47.3%


CP 13–9
1.	Current assets + capital assets = Total liabilities + shareholders’ equity
	Current assets + $90 =$40 + 140
	Current assets = $90
	Current ratio=    Current assets  
		Current liabilities
	2.5 = $90/Current liabilities
	Current liabilities = $36
2.	Per above: Current assets = $90; current liabilities = $36
	Acid-test Ratio = Quick current assets
		Current liabilities
	Since the Acid-test Ratio is 1:1,

	 Inventory = $90 – inventory + 0
		$36
	Inventory = $90 – 36 
	Inventory = $54
3.	Accounts receivable =Quick current assets – (cash + short-term investments)
	$36 – 6 = 30
	Accounts rec. collection period = Average accounts receivable x 365 days
			Net credit sales
	= $30/300 x 365 days
 = 37 days
4.	If gross profit is 30 per cent of sales, the cost of goods sold is 70 per cent of sales (70% x $420 = $294). Per above, inventory = $54
	Number of days of sales in inventory = Average inventory x 365 days
		Net credit sales
	= $54/294 x 365 days
 = 12 days
5.	Revenue operating cycle = Accounts receivable collection period + number of days of sales in inventory
	= 77 + 12 = 49 days
6.	Net financial debt = Bank loan (current liabilities) – (cash and short-term investments)
	= $36 (see above) – 6
	= $30



CP 13–10
1. 	
	
	
	Effect on current ratio
	

	
	
Transaction
	
Inc.
	
Dec.
	No change
	

	a.
	Bought $20,000 of merchandize on account (the company uses a perpetual inventory system)
	
	
X
	
	

	b.
	Sold for $10,000 cash, merchandize that cost $5,000
	X
	
	
	

	c.
	Collected a $2,500 account receivable
	
	
	X
	

	d.
	Paid a $10,000 account payable
	X
	
	
	

	e.
	Wrote off a $1,500 bad debt against the allowance for doubtful accounts
	
	
	
X*
	

	f.
	Declared a $1 per–share cash dividend on the 10,000 outstanding common shares
	
	
X
	
	

	g.
	Paid the dividend declared above
	X
	
	
	

	h.
	Borrowed $10,000 from a bank by assuming a 60–day, 10 per cent loan
	
	
X
	
	

	i.
	Borrowed $25,000 from a bank by placing a 10–year mortgage on the plant
	
X
	
	
	

	j.
	Used the $25,000 proceeds of the mortgage to buy additional machinery
	
	
X
	
	

	
	
	
	
	
	


* the journal entry is Dr. Allowance for Doubtful Accounts; Cr. Accounts Receivable 
2. 	At the end of May,
a. 	The current ratio was 2.15 to 1, calculated as follows:
	
	
	May 1 Bal.
	(a)
	(b)
	(c)
	(d)
	(e)
	(f)
	(g)
	(h)
	(i)
	(j)
	May 31 Bal.

	Current assets (given)
	x
	$200
	+20
	+10
–5
	+2.5
–2.5
	–10
	+1.5
–1.5
	–
	–10
	+10
	+25
	–25
	215

	Current liabilities (derived)
	y
	$80
	+20
	–
	–
	–10
	–
	+10
	–10
	+10
	–
	–
	100

	Current ratio 
	x/y
	2.5
	
	
	
	
	
	
	
	
	
	
	2.15





CP 13–10 continued

b. 	The acid–test ratio was 1 to 1 calculated as follows:
	
	
	May 1 Bal.
	(a)
	(b)
	(c)
	(d)
	(e)
	(f)
	(g)
	(h)
	(i)
	(j)
	May 31 Bal.

	Quick assets (derived)
	x
	$100
	–
	+10
	+2.5
–2.5
	–10
	+1.5
–1.5
	–
	–10
	+10
	+25
	–25
	100

	Current liabilities (see above)
	y
	$80
	+20
	–
	–
	–10
	–
	+10
	–10
	+10
	–
	–
	100

	Acid-test ratio 
	x/y
	1.25
	
	
	
	
	
	
	
	
	
	
	1.0


P 13–1
1. 	a. 	Current ratio 
=     Current assets 
		Current liabilities
		= $850/400
= 2.13:1
	b. 	Acid-test ratio 
=      Quick assets    
		Current liabilities
		= $300/400
= .75:1
	c. 	Debt to shareholders’ equity ratio 
=        Total liabilities       
		Shareholders’ equity
		= $1,200/(500 + 50)
= 1.85:1
2. 	Mammoth Corporation could be considered a poor risk for a potential lender. While the current ratio is acceptable, the acid–test ratio is less than 1. There do not appear to be enough liquid assets ($100) to cover short–term liabilities ($400).
The total debt is high in relation to total shareholders’ equity, which means that outside creditors are providing most of the financing of Mammoth; it may be difficult to obtain further debt financing.
3. 	A full set of financial statements including notes would help, as well as past years’ ratios and industry averages. Stock market information and investors’ analyses would also be useful, as well as other qualitative information like management discussion and analysis often contained in the companies’ annual reports.


P 13–2
1.	a. 	Current ratio
		=   Current assets  
		Current liabilities
		=            Cash + accounts receivable + inventory + prepaid expenses        
			Accounts payable + notes payable + current portion of borrowings 
		= ($60 + 140 + 250 + 10)/(100 + 20 + 60)
		= $460/180
		= 2.6:1
	b.	Acid-test ratio
		= 	Quick assets    
				Current liabilities
		= 		Cash + accounts receivable		   
			Accounts payable + notes payable + current portion of borrowings
		= ($60 + 140)/180
		= $200/180
		= 1.1:1
	c.	Accounts receivable collection period
		= Average accounts receivable x 365 days
				Net credit sales
		Average accounts receivable
		= ($140 + 180)/2 
		= $160
		Accounts receivable collection period
		= $160/800 x 365 days
		= 73 days
	d.	Number of days of sales in inventory
		= Average inventory x 365 days
			Cost of goods sold
		= [($200 + 250)/2]/600 x 365 days
		= $24 days
	e. 	Debt to shareholders’ equity ratio 
=        Total liabilities     
		Shareholders’ equity
		= 	Current liabilities + borrowings	
		Common shares + preferred shares + retained earnings
		
		= ($180 + 140)/(250 + 120 + 100)
= $320/470
= .68:1


P 13–2 continued
	f.	Return on shareholders’ equity
		= 	Net income                   
			Average shareholders’ equity
		Average shareholders’ equity
		= [($120 + 250 + 100) + (120 + 250 + 80)]/2
		= $460
		Return on shareholders’ equity
		= $50/460
		= 10.9% 
	g.	 Earnings per share
		= 	Net income – preferred share dividends          
			Number of common shares outstanding
		Preferred share dividends
		= $120 x 10%
		= $12
		Earnings per share
		= ($50 – 12)/50
		= $.76 per share
2. 	Dividends paid on common shares = $18, calculated as follows: 
			Retained Earnings
		80	Opening balance (Jan. 1, 2018, given)
		50	Net income 2018
	12			Preferred share dividend (1g above)
	18			Common share dividend (to balance)
		100	Closing balance (Dec. 31, 2018, given)
3.	The debt to shareholders’ equity ratio shows that Epicentre has $.68 of debt financing for each $1 of shareholders’ equity. Creditors may prefer this greater emphasis on shareholders’ equity financing. Both the current ratio and the acid–test ratio tell us that Epicentre is not threatened with insolvency, given the high ratios. Again, creditors may like this. Epicentre takes 73 days to collect the average account receivable. This rate seems a little slow, but it depends on the credit terms offered to customers. The number of days sales in inventory is 24, which seems very low. However, the company may operate in an unusual industry. Epicentre’s return on shareholders’ equity seems adequate at 10.9 per cent. Earnings per share and dividends need to be evaluated in conjunction with the market price of common shares, but overall Epicentre seems to be a good investment for creditors and shareholders. As always, more information would be useful, particularly prior years’ ratios and industry averages.


P 13–2 continued
4.
		Epicentre Corporation
	Statement of Financial Position
	At December 31, 2018


		Operating Capital

	Working capital from operations 
	
	
	

		Accounts receivable
	
	
	$140

		Merchandize inventory
	
	
	250

		Prepaid expenses
	
	
	10

		Less: Accounts payable
	
	
	(100)

	
	
	
	300

		Capital Assets, net
	
	
	330

	Operating capital
	
	
	$630

	
	Net Financial Debt

		Notes payable
	$  20
	
	

		Borrowings ($140 + 60)
	200
	
	

		Less: Cash
	(60)
	
	160

	
	
	
	

		Shareholders’ Equity

		Preferred shares
	120
	
	

		Share capital
	250
	
	

		Retained earnings
	100
	
	470

	Financial capital
	
	
	$630



		Epicentre Corporation
	Income Statement
	For the Year Ended December 31, 2018


	Sales
	
	
	$800

	Cost of goods sold
	
	
	600

	Gross profit
	
	
	200

	Selling and administrative expenses
	
	
	100

	Income from operations
	
	
	100

	Less: Income taxes*
	
	
	(38)

	Income from operations, after-tax
	
	
	62

	Interest
	$20
	
	

	Less: Income tax savings
	(8)
	
	

	Net interest expense
	
	
	12

	Net income
	
	
	$50


*$30/80 = 37.5%; $100 x 37.5% = $38 (rounded)


P 13–2 continued

5. Scott Formula
	
	

Return on operating capital
	

+
	

Return on leveraging
	

=
	Return on shareholders’ equity

	
	(1)
	
	(2)
	
	
	(3)
	
	
	(4)
	
	(5)

	
	$62
	x
	$800
	+
	$62
	–
	$12
	x
	$160
	=
	$50

	
	800
	
	630
	
	630
	
	160
	
	470
	
	470

	=
	7.8%
	x
	1.3
	+
	
	2.3%
	
	x
	.34
	=
	10.6%

	=
	
	9.8%
	
	+
	
	
	
	.8%
	
	=
	10.6%


Epicentre earns almost its entire ROSE from ROC (9.8/10.6). ROL is only .8%. Since the difference between ROC and the cost of borrowing is relatively healthy (2.3%), the company could consider borrowing more funds and paying off preferred shares if their dividend rate is higher than the after-tax interest rate ($12/160 or 7.5%). As always, prior years’ information and other indicators (e.g., P/E ratio) would help the analysis.
P 13–3
Belafonte Corporation
Statement of Financial Position
At April 30, 2018
	Assets	Liabilities and Shareholders’ Equity
Cash		$ 2,000	(c)	Accounts payable	$ 8,000	(f)
Accounts receivable	8,000	(a)	Bonds payable	20,000	(b)
Merchandize inventories	  20,000	(b)	Common shares	15,000	(g)
	Total current assets	30,000	(d)	Retained earnings	7,000	(i)
Capital assets, net	20,000	(b)
			              			Total liabilities and	              
	Total assets	$50,000	(e)			shareholders’ equity	$50,000	(h)
Information:
(1)	Current assets = 3.75 x Current liabilities (accounts payable)
(2)	Sales for year = $73,000
(3)	Merchandize inventories = $20,000 = Capital assets = bonds payable
(4)	Accounts receivable collection period = 40 days
	Average accounts receivable x 365 days
		Net credit sales
(5)	Bonds payable = 10 x cash
(6)	Total current assets = 2 x common shares.
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Calculations:
(a)	Average accounts receivable x 365 days = 40 days
		$73,000
	Average accounts receivable = $8,000
(b)	Merchandize inventory, capital assets (net), and bonds payable each equal $20,000
 (c)	Cash = bonds payable/10 = $20,000/10 = $2,000
(d)	Total current assets = $2,000 + 8,000 + 20,000 = $30,000
(e)	Total assets = $20,000 + 30,000 = $50,000
(f)	Accounts payable = Current assets/3.75 = $30,000/3.75 = $8,000
(g)	Common shares = Current assets/2 = $30,000/2 = $15,000
(h)	Total liabilities and shareholders’ equity must equal total assets
(i)	Retained earnings = Total liabilities and shareholders’ equity – accounts payable – bonds payable – common shares
= $50,000 – 8,000 – 20,000 – $15,000 = $7,000
P 13–4
1. 		Escalade Corporation
Vertical Analysis of the Income Statement
For the Years Ending December 31, 2018–2020
		Common–size percentages	
	2020	2019	2018
Sales	100.0	100.0	100.0
Cost of goods sold	 76.0	 66.7	 50.0
Gross profit	24.0	33.3	50.0
Other expenses	 14.0	 22.7	 29.2
Net income	 10.0	 10.6	 20.8
2. 	Escalade’s gross profit ratio has significantly declined over the past three years. This could be owing to the initial inefficiency of a larger plant or because of selling an increased number of units at a greatly reduced price to obtain a larger share of the market. At any rate, the reasons for this decline should be investigated further. Since other expenses have not increased proportionately, perhaps more money could be put into sales promotion to increase the number of units sold.
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Hook Limited
Statement of Financial Position
At December 31, 2018

Assets

Current
	Cash			$ 30,000
	Accounts receivable			150,000	(3)
	Merchandize inventories			    90,000	(4)
		Total current assets			270,000	(2)
Property, plant, and equipment	442,500	(10)
	Less: Accumulated depreciation	 100,000		  342,500	(9)
Total assets			$612,500	(8)

Liabilities 
Current
	Accounts payable	$ 50,000
	Accrued liabilities	  70,000	(1)
		Total current liabilities			120,000
Non-current
	8% Bonds payable			  125,000	(6)
					245,000
Shareholders’ Equity
Common shares	80,000	(5)
Retained earnings	 287,500	(12)	  367,500
Total liabilities and shareholders’ equity			$612,500	(11)
Calculations:
(1)	Accrued liabilities = $120,000 – 50,000 = $70,000
	(Total current liabilities – accounts payable)
(2)	Total current assets = $120,000 + 150,000 = $270,000
	(Total current liabilities + working capital)
(3)	Accounts receivable = ($120,000 x 1.5) – 30,000 = $150,000 
	[(Total current liabilities x acid–test ratio) – cash]
(4)	Inventories = $270,000 – 150,000 – 30,000 = $90,000
	(Total current assets – accounts receivable – cash)
(5)	Net income = [$80,000 – (80,000/8)] – $30,000 = $40,000
	[Income before interest and income taxes – (income before interest and income taxes/Times interest earned) – income taxes
	Therefore, common shares = $40,000/5 x $10 = $80,000 
	(Net income/Earnings per share) x issued value
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(6)	Bonds payable = $80,000/8 divided by 0.08% = $125,000
	[Income before interest and income taxes/Times interest earned)/Interest rate]
(7)	If the ratio of shareholders’ equity to total assets is 0.60 to 1, then the ratio of liabilities to total assets is 0.40 to 1.
(8)	Total assets = ($120,000 + 125,000)/0.4 = $612,500
	[(Total current liabilities + total non–current liabilities)/Total debt to total assets ratio]
(9)	Net PPE = $612,500 – 270,000 = $342,500 
	(Total assets – current assets)
(10)	PPE = $342,500 + 100,000 = $442,500
	(Net PPE + accumulated depreciation)
(11)	Total liabilities and shareholders’ equity = Total assets = $612,500.
(12)	Retained earnings = $612,500 – 245,000 – 80,000 = $287,500
	(Total liabilities and shareholders’ equity – total liabilities – common shares)
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